SIGNATURE PAGE

RFQ# F-69-2023

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	National Highway Products, Inc
	(PRINT)
Preparer's Name:	Stacia M. Green
Signature:	Station M Hun 09/13/2023
Address:	301 Riverside Drive Millville NJ 08332
Telephone No.:	856-692-7572
Fax No.:	856-692-2929
E-Mail Address:	deb@nationalhighway.com
	(This should be the email where Contracts would be sent)
Contact Person:	Stacia M. Green
FEIN:	
(Federal Employee ID)	

RFB# F-69-2023

County of Monmouth

RFB must be received no later than:

For Delivery to:

REQUEST FOR BID

---- This Is Not An Order ----

Avery Dennison

T-11513-FYG

NONE

BLACK BORDERS NO MESSAGE ON WHITE BLANK,

50 per pallet

24" X 18" .080 GA PRODUCT: T11500 OMNICUBE, BRAND: AVERY DENNISON OR EQUIVALENT

Avery Dennison

T-11500

MFG/Brand:

Product No:

50 PER PALLET

Packaging:

MFG/Brand:

Product No: Variances, if any:

Variances, if any:



September 20, 2023 10:30AM

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

18.70

935.00

50 EACH

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER COMPLETE TRAFFIC SIGNS WITH REFLECTIVE TRAFFIC SIGN FACES ON ALUMINUM BLANKS AND MISCELLANEOUS MATERIALS FOR THE DIVISION OF **ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)**

Division of Engineering/Traffic Safety Unit, Public Works Complex

	240B Center Street, Building #2, Freehold, NJ	07728		
Delive	ery Date: AS PER SPECIFICATIONS			
ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
1	R1-1, STOP, 30" X 30" .080 GA. PRODUCT: T11500 OMNICUBE, BRAND: AVERY DENNISON OR EQUIVALENT 100 PER PALLET Packaging: MFG/Brand: Product No: Variances, if any: NONE	100 EACH	37.78	3,778.00
2	R2-1, SPEED LIMIT W/O NUMERICAL LEGEND 24" X 30" .080 GA PRODUCT: T11500 OMNICUBE, BRAND: AVERY DENNISON OMNICUBE OR EQUIVALENT 50 PER PALLET Packaging: MFG/Brand: Product No: Variances, if any: NONE	50 EACH	31.17	1,558.50
3	S1-1, SCHOOL CROSSING (FYG), 36" X 36" .080 GA. PRODUCT: T11500 OMNICUBE, BRAND: AVERY DENNISON OR EQUIVALENT 250 PER PALLET Packaging: 2 Pallets of 100 & 1 Pallet of 50	250 EACH	53.33	13,332.50

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-69-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER COMPLETE TRAFFIC SIGNS WITH REFLECTIVE TRAFFIC SIGN FACES ON ALUMINUM BLANKS AND MISCELLANEOUS MATERIALS FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
5	RED REFLECTIVE PANELS, 3" WIDE X 72" LONG FOR USE WITH U-CHANNEL POSTS, INCLUDING 5 TAMPER RESISTANT 1" SQUARE HEAD SCREWS AND DRIVER BIT, DG3 SHEETING, PRODUCT: BSX-372, BRAND: BRITESIDE OR APPROVED EQUIVALENT 50 PER PALLET Packaging: MFG/Brand: Product No: Variances, if any: NONE	50 EACH	20.82	1,041.00
6	YELLOW REFLECTIVE PANELS, 3" WIDE X 72" LONG FOR USE WITH U-CHANNEL POSTS, INCLUDING 5 TAMPER RESISTANT 1" SQUARE HEAD SCREWS AND DRIVER BIT, DG3 SHEETING, PRODUCT: BSX-372, BRAND: BRITESIDE OR APPROVED EQUIVALENT 450 PER PALLET Packaging: MFG/Brand: Product No: NONE NONE	450 EACH	19.83	8,923.50
7	WHITE REFLECTIVE PANELS, 3" WIDE X 72" LONG FOR USE WITH U-CHANNEL POSTS, INCLUDING 5 TAMPER RESISTANT 1" SQUARE HEAD SCREWS AND DRIVER BIT, DG3 SHEETING, PRODUCT: BSX-372, BRAND: BRITESIDE OR APPROVED EQUIVALENT 50 PER PALLET Packaging: MFG/Brand: Product No: Variances, if any: MONE NONE	50 EACH	19.83	991.50
8	FLUORESCENT YELLOW GREEN (FYG) REFLECTIVE PANELS, 3" WIDE X 72" LONG FOR USE WITH U-CHANNEL POSTS, INCLUDING 5 TAMPER RESISTANT 1" SQUARE HEAD SCREWS AND DRIVER BIT, DG3 SHEETING, PRODUCT BSX-372 BRAND: BRITESIDE OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: Variances, if any: NONE	500 EACH	19.83	9,915.00

RFB# F-69-2023

County of Monmouth REQUEST FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER COMPLETE TRAFFIC SIGNS WITH REFLECTIVE TRAFFIC SIGN FACES ON ALUMINUM BLANKS AND MISCELLANEOUS MATERIALS FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
9	M1-6 (MONMOUTH COUNTY) W/O NUMERICAL LEGEND, 24" X 24" .080 GA. PRODUCT: #4000 SERIES BRAND: 3M DG3 OR EQUIVALENT 80 PER PALLET Packaging: MEG/Brand: Avery Dennison	80 EACH	24.91	1,992.80
	MFG/Brand: Avery Dennison Product No: T-11500	_		
	Variances, if any:	-		
10	96 INCH STENCIL LETTER "W", PRODUCT: 110A-FA, BRAND: FORM FLEX OR APPROVED EQUIVALENT	1 EACH	61.44	61.44
	Packaging: 1 per carton MFG/Brand: FLEX-FORM Product No: 110A-FA-W Variances, if any: NONE	 		1
11	96 INCH STENCIL LETTER "G", PRODUCT: 110A-FA, BRAND: FORM FLEX OR APPROVED EQUIVALENT	1 EACH	61.44	61.44
	Packaging: 1 per carton MFG/Brand: FLEX-FORM 110A-FA-G Variances, if any: NONE			
12	96 INCH STENCIL LETTER "X", PRODUCT: 110A-FA, BRAND: FORM FLEX OR APPROVED EQUIVALENT	1 EACH	61.44	61.44
	Packaging: 1 per carton MFG/Brand: FLEX-FORM 110A-FA-X Variances, if any: NONE		<u> </u>	
13	96 INCH STENCIL LETTER "O", PRODUCT: 110A-FA, BRAND: FORM FLEX OR APPROVED EQUIVALENT	1 EACH	61.44	61.44
	Packaging: MFG/Brand: Product No: Variances, if any: 1 per carton	_ _ 	L	1

County of Monmouth REQUEST FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER COMPLETE TRAFFIC SIGNS WITH REFLECTIVE TRAFFIC SIGN FACES ON ALUMINUM BLANKS AND MISCELLANEOUS MATERIALS FOR THE DIVISION OF

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
14	96 INCH STENCIL LETTER "C", PRODUCT: 110A-FA, BRAND: FORM FLEX OR APPROVED EQUIVALENT	1 EACH	61.44	61.44
	Packaging: 1 per carton MFG/Brand: FLEX-FORM 110A-FA-C Variances, if any: NONE	- - -		
15	96 INCH STENCIL LETTER "R", PRODUCT: 110A-FA, BRAND: FORM FLEX OR APPROVED EQUIVALENT	1 EACH	61.44	61.44
	Packaging: 1 per carton MFG/Brand: FLEX-FORM Product No: 110A-FA-R Variances, if any: NONE	- - - -		- L
16	5/16" - 18, 2.5 INCH STEEL HEX BOLTS, BOLT SHALL BE FULLY THREADED PRODUCT: 10829 BRAND: FASTENAL OR EQUIVALENT PACKAGING: 1000/BAG 1000 PIECES/BAG Packaging: 1.000 PER BAG MEG/Brand: MELFAST	1,000 EACH	0.15	150.00
	MFG/Brand: Product No: Variances, if any: MELFAST 22HT031C250 NONE	- - -		
17	5/16" - 18, STEEL HEX NUT, PRODUCT: 36104 BRAND: FASTENAL OR EQUIVALENT PACKAGING: 1000/BAG 1000 PIECES/BAG	1,000 EACH	0.05	50.00
	Packaging: 1000 PER BAG MFG/Brand: MELFAST Product No: 22F031C Variances, if any: NONE			
18	5/16" - 18, STEEL LOCK WASHER, PRODUCT: # 0129169 BRAND: FASTENAL OR EQUIVALENT PACKAGING: 1000/BAG 1000 PIECES/BAG Packaging: 1,000 PER BAG	1,000 EACH	0.04	40.00
	MFG/Brand: MELFAST Product No: 226031 Variances, if any: NONE	- - -		

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-69-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER COMPLETE TRAFFIC SIGNS WITH REFLECTIVE TRAFFIC SIGN FACES ON ALUMINUM BLANKS AND MISCELLANEOUS MATERIALS FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
19	5/16" - 18, 2.5 INCH ALUMINUM HEX BOLTS, BOLT SHALL BE FULLY THREADED PRODUCT: 17H031C150 BRAND: MELFAST OR EQUIVALENT 1000 PIECES/BAG Packaging: MFG/Brand: Product No: Variances, if any: NONE	10,000 EACH 	0.52	5,200.00
20	5/16" - 18, ALUMINUM HEX NUT, PRODUCT: 17F031C BRAND: MELFAST OR EQUIVALENT 1000/BAG Packaging: 1,000 PER BAG MFG/Brand: MELFAST 17F031C Product No: NONE NONE	10,000 EACH	0.07	700.00
21	5/16" - 18, ALUMINUM LOCK WASHER, PRODUCT: 17L031C BRAND: MELFAST OR EQUIVALENT 1000/BAG Packaging: 1,000 PER BAG MFG/Brand: MELFAST 17L031 Product No: NONE NONE	10,000 EACH 	0.07	700.00
22	5/16" NYLON WASHER, PRODUCT: 27W031 BRAND: MELFAST OR EQUIVALENT PACKAGING: 1000/BAG 1000/BAG Packaging: MFG/Brand: MELFAST 17W031 Variances, if any: NONE	10,000 EACH	0.05	500.00

TOTAL .

50,176.44

^{** 8&}quot;X11" SAMPLE OF RETROREFLECTIVE MATERIAL REQUESTED AT TIME OF BID **

^{***} SEE ATTACHED SPECIFICATIONS ***

^{****}BRAND NAMES AND NUMBERS ARE MENTIONED FOR IDENTIFICATION PURPOSES ONLY. ALL ITEMS MAY BE AN EQUIVALENT. IF BIDDING AN EQUIVALENT, PLEASE SO IDENTIFY, INCLUDE PRODUCT LITERATURE, AND BE PREPARED TO DEMONSTRATE EQUIVALENCY.